Status on SDT simulation
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Upper limit in z [nm] : 371.3, 371.3, 371.13, 371.3, F44, F44, G44, G44, 23580
Lawer limit in z [nm] : -371.3, -371.3, -371.3, -371.3, -g44, -G44, -G44, -G44, -2350
Efficiency RPhi : 0.94, 0 0, 0, 0.94, o, o, o, 1]
Efficiency 2nd coard. (eg. z): 0, 0, o, 0.494, a, a, n, n.44, 0
Stereo anzle alpha [Rad] T TxipiA1800, Tx(piA1801, Tx(piA1B0), Txi(piA180), TxipiA180), T=(piA180), T=(piA180), T=(pif180), Tx(pi/180)
Thickness [rad. lengths] o 0.00213, 0.00468, 0.00468, 0.oo213, Q.oo21a, 0.00468, 0.00468, 0.0o021a, 0.0009367
error distribution 0
0 normal-zignalRPhi) [le-Bm] @ 7
sizmalz) [le-Bm] : 7
1 uniform-d{RPhi} [1e-Bm] : .
4z [l - change the thickness
Tine Projection Chamber (TPC)
sigma”2=signal ™ 2+signal "2xsin(heta) "2+Cd i f f " 2¢Bmm hxsin(thetalsLdrift [m]
Humber of lavers : 133
Radii [mm] : m
Upper limit in z [mm] H
Lower limit in z [mm] HEE ]
Efficiency RPhi : 1
Efficiency z : 1
Thickness [rad. lengths] :  0.00005194 Change the number Of |ayeI’S,
lanaD (RPhI) [1e-6n] : 80 (1716-384mm)/10mm ~ 133 cells
sigmal (RPhi) [1e-Bnl : H00
Cdiff (RPhi) [le-Bm/sart(m)] : 25
sizmal(z) [1e-6m] T 400
sizmal (z) [1e-6m] |
cdiff(z) [le-Gn/sart(n)] @ &0 02 mm -> 2 mm
Silicon External Tracker (SET)
Number of lavers : 4
Description (optional) : | TPC outer wal | |---——--—=/-—- External Tracker---———-———mm—mm o
Nanes of the lavers (opt.) H KTPCWZ, GETT, HBET1, HBETZ2, SETZ, SET3
Radii [mm] : 1808, 1811.1, 1812.4, 16813.4, 1847.4
Upper limit in z [nml : 2340, 2300, 2300, 2300, 2350
Lower limit in z [nml : -2380, ang, -2300, -2300, -2300, -2350
Efficiency RPhi : 0, 0.499, 0, 0, 0, 1]
Efficiency 2nd coord. (eg. z): 0, o, o, o, 0.33, 0
Stereo angle alpha [Rad] : Tx(pi/180) Telpi /180, Tx(piA180),  Tx(piA1803, 7x(pisf180), a0« (pi/180)
Thickness [rad. lengths] 0.005367, 0.00213, 0.004R8, 0.004R8, 0.00213, 1]
error distribution : 1]
0 normal-signafRPhi) [1e-Bm] : 7. 7, 7, 7, 7, 7

signalz) [1e-Bm] : T, T, 7, T, Ty 7
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Comparison of resolutions

Changes: (from baseline config.) TPC > “MDC”

update : outer shell thickness of the “MDC” is set to 2mm ( previous one was 0.2 mm )
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Transverse impact parameter resolution Momentum resolution :



Ref: (v0.3) removing TPC (and its wall )
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Ref: (v0.3) removing
material budget as 0

PC + setting all

of

update : material budget for forward trackers are set as 0 (it was not changed)
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Ref: Nhit for “MDC” config.
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